RE6613 THEIMEY A1 B 47 R T & A
AytySr—
480
= %0 B _soxsoxs A
M12x50 ‘ r% (HEREDND > %) =
(BREREND > %) 2 /| LRI
2-M12x40 S O — . L
(KERED > =) ki hy 7V
HEFAEmATEY 4 t © 2—-¢18 HHREAR
(BARESD - %)
35 35 E25
500
i
e
RE6618 XIS EY £ 8 47 B T % A s
&
E7 ]
DAL —H YT
480 f$EER 02
25 430 25
100 L-50x50x6 T ¥—a—2 | —
M12x50 [‘—" (BBERMERD > &) B—UvHL
(BERRESASD - %) 2 /] L]
2-M12x40 3 O —]
(REREND %) R == b
FBARITENS ¢ o 2-¢18 ‘ P
(BERRESAD - %) | R
35 % 50
500 100 03
7V
X R
TG
A — 04
& & THAE | WHEmmx & ElE FlES
6625 69 0. 4x6x19 ZFULR .
6626 96 0. 5x6x24 " e
T Ry IR
w & X7 HWHmmx X o B W o= |——
6631 60 2. 0x7 SARENG - =| BEHE 2 2mm? 05
{5t
74 FY—a2—2X B%E6646 T4 —a3—2X B
5
EHT)yT22mm?*~3 8mm2fA
43 16 06
a 30 rﬁ)‘ |
A iR
/ﬁfsﬁmmﬂ\wog _
L8 o 07
¢ 35 «©
HETSEH
& O ERDAVY—| A B c D # " 50 16
6644 69 18| 7 9 | 40 ZFULA
6645 99 24 [ 11 ] 13| 56 "

29



28t
hyTVG

e
e

Rit2Y |

e
e

2

10|

s

IERy 9 A

HithiE

SR

PR

ETSEf

(o7 ]

L

JA4XY—91)9F

& B ERADAY— A B C D E # "
6654 69 16 | 27 | 22| 8 [M6 |R7>LR
6655 99 22 | 45 35| 12 [M10 "
A=y
D 100
ﬁ #e
| |
«E+If$lﬁﬁs@%l7k% m & o A 5 : W =
= R 6661 | M10 | 21 32 3 | mEREND o=
150 6662 M12 23 " 4.5 "
6663 | M16 28 38 6 "
6664 | M10 21 35 4 2T ULR
M4 6665 | M12 23 [ 5 "
RF¥LR) 6666 | M16 28 40 6 "
o =]
EfT U T
Ayt y— 22mm?*H
(RS IS ST ST7R P C W ®
N =
N s SS O NRAS S S SN 6681 580 |[SKBWBEMRDHOET

7

R

30



